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I. Answer all questions -—

1

10

11

12

Findy ifIny =3t + 5.
*a

Evaluate !-Eﬂnx cos x dx.
0

d
Evaluate — -l (3x +1).

3 -.||1 +r—1
Evaluate lim —.
x—+0 x
Integrate coth bx.
i B+l converges or diverges.
Examine whether 2

Define an alternating series.

x _0.
Find the Taylor series for f(x)=¢"atx=0

1
d the Taylor pulynn:m'a] of arder 0 gia-numhed by f(x) = cra= 2.
Fin e

Find the focus of the parabola 4 =10x.

of the hyperbola ge? — 16" = 144.

Find the eenentric:itb'
] 2
£+ y =a.

i ircle
equation of the ¢ _— e

Turn ove

Write the paramatric
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II.

HI.

ﬁm&[‘ all nine q‘uﬂa‘ﬁq}ng —

4 cozd
18 Evaluate :L 3+ 2aind e,

Tr2

14 integrate 290 * oyg v with Tespact to 2.

16 Evaluste lm IT=50%
x—=0 1:3

16 Bhow that In x grows slower than x as 2 — .

17 Ezamine whether x¢ +xy+ 3% — 1= Drapresents & parebola, ellipse or hyperbola.

2
18 Find the vertices of the ellipse %:- + :"? =L

18 Find the Taylor zeries for f(x] =cos xatx=0.

ST L
20 For what values of ¥ do the series zl (- 1) "m CONVETgZes,
fino
21 Examine whether the serjes
2 1.1 1 1 1
—lt ot —
R Ty L TR
Answer any five questions —
22 Find the directriz of the parabola r— __ 25
10+10e0n’

23 Graph the curve 72 = ¢ cog i,

24 Find the tangent to the right-hand hyperbola hranch
X= - - K
8eCt, y=tang, A

point {ﬁ, 1] where { = ;—t

(9 x 1 = 9 weightag

{tt:-;f'ﬂ“b
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C 81818

" 35 Show that the in's mer
2 & M““laumﬁﬂﬂﬂeﬂfﬂrain:umvergeamsin:ﬁ}rﬂﬂm

———
r

28 Investigate the converges of the serie i {2r)
1

natinl
1
97 Evaluate | Sinh? = dy,
n
i
28 Show that lim (1+x)" =
x -
. Angwer any lwo questions ;
N S
29 Find the sum of the series 1.1“["*1}'

30 Multiply the geometric series i P =lexre tantx” o

J'I--“

1
] for (4 < 1.
get a power series for (3 _ ) M

A1 ﬁndthelmngthufthaastmid¥=cuaﬂ ¢, y=sain? ?, UEEE S

(5 % 2 = 10 weightage)

%, for 4] <1, by itseli to

(2 x 4 = § weightage)
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